#### LOUISIANA UNIFORM PUBLIC WORK BID FORM

O: Jefferson Parish BID FOR: West Esplanade Avenue Restoration Eastbound
Purchasing Department (Tartan Drive to Haring Road)
200 Derbigny Street, Suite 4400Jefferson Parish Public Works No. 2017-032-RBPGretna, Louisiana 70053Bid Proposal No. 50-124124
Gretna, Louisiana 70053  (Owner to provide name and address)  Bid Proposal No. 50-124124  (Owner to provide name of project)
The undersigned bidder hereby declares and represents that she/he; a) has carefully examined and understands the Bidding Documents, b) has not received, relied on, or based his bid on any verbal instructions contrary to the Bidding Documents or any addenda, c) has personally inspected and is familiar with the project site, and hereby proposes to provide all labor, materials, tools, appliances and facilities as required to perform, in a workmanlike manner, all work and services for the construction and completion of the referenced project, all in strict accordance with the Bidding Documents prepared by:  T. Baker Smith, LLC  and dated: August, 2018  Downer to provide name of entity preparing bidding documents.)  Bidders must acknowledge all addenda. The Bidder acknowledges receipt of the following ADDENDA: (Enter the number the Designer has assigned to each of the addenda that the Bidder is acknowledging)  1 2 and 3
<b>FOTAL BASE BID</b> : For all work required by the Bidding Documents (including any and all unit prices designated "Base Bid"*
out not alternates) the sum of:  100 million fifty ceven thougand two hindred eleven Dollars (\$ 7,057,211.00)
<b>ALTERNATES:</b> For any and all work required by the Bidding Documents for Alternates including any and all unit prices designated as alternates in the unit price description.
Alternate No. 1 (Cured-In-Place Lining of Corrugated Metal Outfall Pipes, Additive Alternate) for the lump sum of:  One hundred eighten Theorems Gre hundred
Alternate No. 2 (Waterline Relocation From Page Drive To Haring Road, Additive Alternate) for the lump sum of:  One hundred twenty fire throughout the Myndred Dollars (\$ 175, 500.00)
Alternate No. 3 (Not Applicable)) for the lump sum of:
NOT APPLICABLE Dollars (\$ 0 )
NAME OF BIDDER: The Three Cls Properties
ADDRESS OF BIDDER: 141 1310 Service Noad
LOUISIANA CONTRACTOR'S LICENSE NUMBER: 38610
NAME OF AUTHORIZED SIGNATORY OF BIDDER: Counce Cook hoe
SIGNATURE OF AUTHORIZED SIGNATORY OF BIDDER:
SIGNATURE OF AUTHORIZED SIGNATORY OF BIDDER**:
THE FOLLOWING ITEMS ARE TO BE INCLUDED WITH THE SUBMISSION OF THIS LOUISIANA

## <u>UNIFORM PUBLIC WORK BID FORM:</u>

- \* The <u>Unit Price Form</u> shall be used if the contract includes unit prices. Otherwise it is not required and need not be included with the form. The number of unit prices that may be included is not limited and additional sheets may be included if needed.
- \*\* A CORPORATE RESOLUTION OR WRITTEN EVIDENCE of the authority of the person signing the bid for the public work as prescribed by LA R.S. 38:2212(B)(5).

**BID SECURITY** in the form of a bid bond, certified check or cashier's check as prescribed by LA RS 38:2218.A is attached to and made a part of this bid.

TO: Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
Purchasing Department	(Tartan Drive to Haring Road)
200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
Gretna, Louisiana 70053	Bid Proposal No. 50-124124
(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	■ Base Bid or □	Alt.#REMOVAL OF S	TRUCTURES AND OBS	TRUCTIONS	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
202-01-00100	1	Lump Sum	18,000,00	16,000.00	
DESCRIPTION:	▼ Desc Did on □ Ale# DEMOVAL OF ACRUALT DAVEMENT (FILL DEPTH) (DICHURDING CONCERNE CURP. ALE				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
202-02-02020	493	Square Yard	15.00	5916.00	
DESCRIPTION:		Alt.#REMOVAL OF C	CONCRETE WALKS AND	D DRIVES (VARIABLE THICKNESS) (INCLUDING	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
202-02-06100	1522	Square Yard	12.00	18,264.00	
DESCRIPTION:	☑ Base Bid or ☐ CONCRETE CU	Alt.#REMOVAL OF P RB) (9" +/- THICKNESS)	ORTLAND CEMENT CO	NCRETE PAVEMENT (INCLUDING INTEGRAL	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
202-02-32500	7900	Square Yard	12.00	94,800.00	
DESCRIPTION:	Base Bid or □	Alt.#EXCAVATION A	AND EMBANKMENT		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
203-05-00100	1	Lump Sum	(00,000.00)	100,000.00	
DESCRIPTION:	■ Base Bid or □	Alt.#TEMPORARY H.	AY OR STRAW BALES		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
204-02-00100	147	Each	72.00	3.234.00	
DESCRIPTION:	■ Base Bid or □	Alt.# TEMPORARY SI	ILT FENCING		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
204-06-00100	2443	Linear Foot	3,00	7.329,00	
DESCRIPTION:	☐ Base Bid or ☐ Alt.#CLASS II BASE COURSE (10" THICK) (CRUSHED STONE OR RECYCLED PORTLAND CEMENT CONCRETE)				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
302-02-10000	433	Square Yard	65.00	28,145.00	
DESCRIPTION:	■ Base Bid or □	Alt.#SCARIFYING Al	ND COMPACTING ROAL	DBED (6" THICK)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
306-02-00100	8260	Square Yard	3.50	28,910.00	

Wording for "DESCRIPTION" is to be provided by the Owner All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

TO: Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
Purchasing Department	(Tartan Drive to Haring Road)
200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
Gretna, Louisiana 70053	Bid Proposal No. 50-124124
(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	⊠ Base Bid or □	Alt.#MAINLINE TRA	AFFIC MAINTENANCE :	SURFACING (HARD) (6" MIN. THICK ASPHALT)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
402-02-00100	322	Square Yard	20.00	6,440.00
DESCRIPTION:	☑ Base Bid or ☐ MEASUREMEN	Alt.#NON-MAINLIN	E TRAFFIC MAINTENA	NCE SURFACING (AGGREGATE) (VEHICULAR
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
402-03-00100	58	Cubic Yard	60.00	3,480.00
DESCRIPTION:	■ Base Bid or	☐ Alt.#ASPHALT CON	CRETE (TYPE 3 WEARI	NG COURSE) (2" THICK)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
502-01-00100(A)	129	Ton	135.00	17,415.00
DESCRIPTION:	⊠Base Bid or □ THICK)	Alt.#ASPHALT CON	CRETE (TYPE 3 BINDER	R COURSE) (VARIABLE THICKNESS; 1-1/2" MINIMUM
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
502-01-00100(B)	115	Ton	135.00	15,525,00
DESCRIPTION:	■ Base Bid or □ Alt.#MILLING ASPHALT PAVEMENT (1-1/2" DEPTH TYPICAL, 3-1/2" DEPTH AT TRANSITIONS TO EXISTING PAVEMENT)			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
509-01-00100	1121	Square Yard	(0.00	11,210.00
DESCRIPTION:	⊠ Base Bid or □	☐ Alt.#PAVEMENT PA	TCHING (12" MINIMUN	M THICKNESS)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
510-01-00200	48	Square Yard	250.00	12,000.00
DESCRIPTION:	■ Base Bid or U	☐ Alt.#PORTLAND CE	MENT CONCRETE PAV	ZEMENT (9" THICK) (HIGH EARLY STRENGTH)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
601-01-00300	8205	Square Yard	75.00	615,375.00
DESCRIPTION:	■ Base Bid or	☐ Alt.#STORM DRAIN	PIPE ARCH (15" RCP)	1
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-03-01020	644	Linear Foot	(10.00)	70,840,00
DESCRIPTION:	☑ Base Bid or □	☐ Alt.#STORM DRAIN	PIPE (48" EQUIV. RCPA	A)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-04-01120	204	Linear Foot	265.00	54,060.00

Wording for "DESCRIPTION" is to be provided by the Owner

TO: Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
Purchasing Department	(Tartan Drive to Haring Road)
200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
Gretna, Louisiana 70053	Bid Proposal No. 50-124124
(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	■ Base Bid or □	Alt.#YARD DRAIN I	PIPE (12" RCP)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-07-00500	778	Linear Foot	100,00	77,800.00
DESCRIPTION:	☑ Base Bid or □	Alt.#JUNCTION BOX	XES (DROP INLET) (BRI	CK)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-01-00100(A)	7	Each	2,500,00	17,500.00
DESCRIPTION:	☑ Base Bid or □	Alt.#JUNCTION BOX	XES (DROP INLET) (BRI	CK) (WITH CURB)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-01-00100(B)	10	Each	2,500.00	25,000.00
DESCRIPTION:	⊠Base Bid or □	Alt.#DRAINAGE MA	NHOLES (BRICK)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-02-00700	1	Each	6,500.00	6,500,00
DESCRIPTION:	⊠Base Bid or □	Alt.#CATCH BASINS	S (CB-04)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-03-00300	14	Each	3,000.00	42,000.00
DESCRIPTION:	⊠ Base Bid or □	☐ Alt.#CATCH BASIN	S (TYPE 1)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-03-00500	1	Each	4,000.00	4,000,00
DESCRIPTION:	⊠ Base Bid or □	☐ Alt.#ADJUSTING M	ANHOLES	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-04-00100	1	Each	7,500.00	7,500.00
DESCRIPTION:	☑ Base Bid or □	☐ Alt.#ADJUSTING CA	ATCH BASINS	5.0
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-04-00200	19	Each	600.00	15,200.00
DESCRIPTION:	■ Base Bid or	Alt.#CONCRETE WA	ALK (4" THICK)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-01-00100	1100	Square Yard	50,00	55,000.00

Wording for "DESCRIPTION" is to be provided by the Owner All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

## LOUISIANA UNIFORM PUBLIC WORK BID FORM $\underline{ \text{UNIT PRICE FORM} }$

TO:	Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
	Purchasing Department	(Tartan Drive to Haring Road)
	200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
	Gretna, Louisiana 70053	Bid Proposal No. 50-124124
	(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	☑ Base Bid or □	Alt.#CONCRETE WA	ALK (8" THICK) (ADA R	AMP)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-01-00500	87	Square Yard	350.00	30,450,00
DESCRIPTION:	⊠ Base Bid or □	Alt.#CONCRETE DR	LIVE (6" THICK) (HIGH E	EARLY STRENGTH)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-02-00200	460	Square Yard	70,00	32,200,00
DESCRIPTION:	■ Base Bid or □	Alt.#INCIDENTAL C	CONCRETE PAVING (8"	THICK) (HIGH EARLY STRENGTH)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-03-00500	25	Square Yard	90,00	2,250.00
DESCRIPTION:	■ Base Bid or □	Alt.#CONCRETE CU	JRB (MODIFIED DEPRES	SS BARRIER TYPE) (HIGH EARLY STRENGTH)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
707-01-00100	756	Linear Foot	20.00	15,120.00
DESCRIPTION:	☑ Base Bid or □	Alt.#CONCRETE CU	JRB (6" HIGH INTEGRAI	L BARRIER TYPE) (HIGH EARLY STRENGTH)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
707-01-00200(A)	1840	Linear Foot	20.00	36,800.00
DESCRIPTION:	⊠ Base Bid or □	Alt.#CONCRETE CU	JRB (8" HIGH INTEGRA	L BARRIER TYPE) (HIGH EARLY STRENGTH)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
707-01-00200(B)	1777	Linear Foot	25.00	44,475.00
DESCRIPTION:	⊠ Base Bid or □	Alt.#CONCRETE CU	JRB (5" HIGH INTEGRA	L MOUNTABLE TYPE) (HIGH EARLY STRENGTH)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
707-01-00300	275	Linear Foot	30.00	8,750,00
DESCRIPTION:	☑ Base Bid or ☐ Alt.#CONCRETE CURB AND GUTTER (8" HIGH BARRIER TYPE) (HEAVY DUTY) (HIGH EARLY STRENGTH)			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
707-03-00100	38	Linear Foot	(10.00	4,180.00
DESCRIPTION:	■ Base Bid or	☐ Alt.#TEMPORARY S	SIGNS AND BARRICAD	ES
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
713-01-00100	1	Lump Sum	70,000.00	70,000,00

Wording for "DESCRIPTION" is to be provided by the Owner

TO: Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
Purchasing Department	(Tartan Drive to Haring Road)
200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
Gretna, Louisiana 70053	Bid Proposal No. 50-124124
(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	☐ Base Bid or ☐	Alt.#SLAB SODDING	(MATCH EXISTING SO	D)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
714-01-00100	2693	Square Yard	5.50	14,811.50
DESCRIPTION:	■ Base Bid or □	Alt.#PROJECT SITE I	ABORATORY (EQUIPP	ED)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
722-02-00100	1	Each	10,000.00	10,000,00
DESCRIPTION:	■ Base Bid or □	Alt.#GRANULAR MA	TERIAL (VEHICULAR I	MEASUREMENT)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
723-02-00100	375	Cubic Yard	23.00	8,625.00
DESCRIPTION:	Base Bid or □	Alt.#MOBILIZATION		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
727-01-00100	1	Lump Sum	60,000,00	60,000.00
DESCRIPTION:	⊠Base Bid or □	Alt.#REFLECTORIZE	D RAISED PAVEMENT I	MARKERS
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
731-02-00100	68	Each	7.50	510.00
DESCRIPTION:	■ Base Bid or □	Alt.#PLASTIC PAVE	MENT STRIPING (24" W	IDTH) (THERMOPLASTIC 125 MIL)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-01-02080	196	Linear Foot	2.50	490.00
DESCRIPTION:	■ Base Bid or □	Alt.# PLASTIC PAVE	MENT STRIPING (SOLII	D LINE) (4"WIDTH) (THERMOPLASTIC 90 MIL)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-02-02000	4189	Linear Foot	7.50	10,472.50
DESCRIPTION:	■ Base Bid or □	Alt.# PLASTIC PAVE	MENT STRIPING (SOLII	D LINE) (8" WIDTH) (THERMOPLASTIC 90 MIL)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-02-02040	270	Linear Foot	10,00	2,700.00
DESCRIPTION:	■ Base Bid or □	Alt.# PLASTIC PAVE	MENT STRIPING (BROK	KEN LINE) (4" WIDTH) (THERMOPLASTIC 90 MIL)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-03-02000	0.67	Mile	7,500,00	5,025.00

Wording for "DESCRIPTION" is to be provided by the Owner

TO:	Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
	Purchasing Department	(Tartan Drive to Haring Road)
	200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
	Gretna, Louisiana 70053	Bid Proposal No. 50-124124

(Owner to provide name and address) (Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	■ Base Bid or □	Alt.#PLASTIC PAVE	MENT STRIPING (DOTT	ED LINE) (8"W) (2'L) (THERMO 90 MIL)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-03-02030	452	Linear Foot	12.00	5,424.00
DESCRIPTION:	⊠Base Bid or □	Alt.#PLASTIC PAVEN	MENT LEGENDS AND SY	YMBOLS (SCHOOL)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-04-19020	1	Each	2,500,00	2,500.00
DESCRIPTION:	☐ Base Bid or ☐	Alt.#CONSTRUCTIO	N LAYOUT	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
740-01-00100	1	Lump Sum	35,000,00	35,000,00
DESCRIPTION:	☐ Base Bid or ☐	Alt.#RELOCATE LIG	HT POLES (INCLUDING	NEW LIGHT POLE FOUNDATION)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
822-15-02100	6	Each	3,300,00	19,800,00
DESCRIPTION:	■ Base Bid or □	Alt.#ENVIRONMENT	TAL PROTECTION	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-1	1	Lump Sum	4,400,00	4,400.00
DESCRIPTION:	Base Bid or □	Alt.#EXPLORATORY	' EXCAVATION	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-2	12	Each	750.00	9,000.00
DESCRIPTION:	⊠Base Bid or □	Alt.#SAWCUTTING A	SPHALTIC CONCRETE	PAVEMENT
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-3	6643	Inch-Linear Foot	1.00	6,643,00
DESCRIPTION:	☐ Base Bid or ☐	Alt.#GEOGRID		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-4	433	Square Yard	2.00	866.00
DESCRIPTION:	■ Base Bid or □	Alt.#WATER MAIN (	6") (PVC/C-900 PIPE)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-106	84	Linear Foot	65.00	5,460.00

Wording for "DESCRIPTION" is to be provided by the Owner

### LOUISIANA UNIFORM PUBLIC WORK BID FORM

### **UNIT PRICE FORM**

TO:	Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
	Purchasing Department	(Tartan Drive to Haring Road)
	200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
	Gretna, Louisiana 70053	Bid Proposal No. 50-124124
	(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	☑ Base Bid or □	Alt.#WATER MAIN (8	B") (PVC/C-900 PIPE)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-108	1886	Linear Foot	70.00	130,620-00
DESCRIPTION:	■ Base Bid or □	Alt.# WATER MAIN (	12") (PVC/C-900 PIPE)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-112	40	Linear Foot	65.00	2,600.00
DESCRIPTION:	■ Base Bid or □	Alt.#WATER MAIN (	5") (DUCTILE IRON PIPE	Ξ)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-206	50	Linear Foot	72.00	3,600,00
DESCRIPTION:	⊠Base Bid or □	Alt.# WATER MAIN (	B") (DUCTILE IRON PIPE	Ε)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-208	110	Linear Foot	98100	9,680,00
	WW-1910-1111			
DESCRIPTION:	■ Base Bid or □	Alt.# WATER MAIN (	12") (DUCTILE IRON PI	PE)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-212	170	Linear Foot	102.00	17,340.00
DESCRIPTION:	Base Bid or □	Alt.#GATE VALVE A	ND VALVE BOX (8")	***************************************
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-408	16	Each	2,100,00	33,600,00
DESCRIPTION:	Base Bid or □	Alt.#PIPE RESTRAIN	TS (6")	*
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-706	13	Each	60,00	760.00
DESCRIPTION:	■ Base Bid or □	Alt.#PIPE RESTRAIN	TS (8")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-708	105	Each	66.00	6930.00
DESCRIPTION:	☑ Base Bid or □	Alt.#PIPE RESTRAIN	TS (12")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-712	26	Each	121.00	3,146.00

Wording for "DESCRIPTION" is to be provided by the Owner

UNII	1 1/1	CL	ror	TAT		
		DID	FOR	***		

TO: Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
Purchasing Department	(Tartan Drive to Haring Road)
200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
Gretna, Louisiana 70053	Bid Proposal No. 50-124124
(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	Base Bid or □	Alt.#TRANSITIONAL	COUPLINGS (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-806	3	Each	200.00	600.00
DESCRIPTION:	■ Base Bid or	Alt.# TRANSITIONAL	COUPLINGS (8")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-808	6	Each	140.00	840.00
DESCRIPTION:	■ Base Bid or	Alt.# TRANSITIONAL	COUPLINGS (12")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-812	8	Each	400,00	3,200.00
DESCRIPTION:	Base Bid or □	Alt.#DUCTILE IRON	FITTINGS	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-901	2819	Pounds	2.00	5,638,00
DESCRIPTION:	Base Bid or □	Alt.#WATER SERVIC	E CONNECTION (<1")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-903-O	4	Each	298:00	1192.00
DESCRIPTION:	Base Bid or □	l Alt.#REMOVAL AND	DISPOSAL OF EXISTIN	VG AC WATERLINE (6")
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-907-6	47	Linear Foot	12.00	564.00
DESCRIPTION:	☐ Base Bid or □	l Alt.# REMOVAL ANI	DISPOSAL OF EISTING	G AC WATERLINE (8")
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-907-8	1852	Linear Foot	12-00	22,224,00
DESCRIPTION:	⊠Base Bid or □	Alt.# REMOVAL AND	DISPOSAL OF EISTING	G AC WATERLINE (12")
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-907-12	401	Linear Foot	1200	4,812.00
DESCRIPTION:	⊠Base Bid or □	Alt.#ABANDOMENT	OF EXISTING WATERL	INE
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-908	200	Linear Foot	15.00	3,000,00

Wording for "DESCRIPTION" is to be provided by the Owner

	Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
	Purchasing Department	(Tartan Drive to Haring Road)
	200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
	Gretna, Louisiana 70053	Bid Proposal No. 50-124124
	(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	☐ Base Bid or 区	Alt.# 1_CURED-IN PLACE	E PIPE LINING (12") (7.0r	nm WALL THICKNESS)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-5	84	Linear Foot	115.00	9,660,00
DESCRIPTION:	☐ Base Bid or 区	Alt.# 1_CURED-IN PLACE	E PIPE LINING (15") (7.01	nm WALL THICKNESS)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-6	348	Linear Foot	140.00	48,770.00
DESCRIPTION:	☐ Base Bid or 区	Alt.# 1 CURED-IN PLACE	E PIPE LINING (18") (8.0	mm WALL THICKNESS)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-7	334	Linear Foot	180.00	60,170,00
DESCRIPTION:	☐ Base Bid or 区	Alt.# 2 WATER MAIN (6	") (PVC/C-900 PIPE)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-106	15	Linear Foot	60.00	900.00
DESCRIPTION:	☐ Base Bid or 区	Alt.# 2 WATER MAIN (8	") (PVC/C-900 PIPE)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-108	1088	Linear Foot	20,00	76,160.00
DESCRIPTION:	☐ Base Bid or 区	Alt.# 2 WATER MAIN (6	") (DUCTILE IRON PIPE	)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-206	50	Linear Foot	72.00	3,600.00
DESCRIPTION:	☐ Base Bid or 区	Alt.# 2 WATER MAIN (8	") (DUCTILE IRON PIPE	(
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-208	50	Linear Foot	88.00	4,400.00
DESCRIPTION:	☐ Base Bid or 区	Alt.# 2 GATE VALVE AN	ND VALVE BOX (8")	1
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-408	8	Each	2(00.00	16,800,90
DESCRIPTION:	☐ Base Bid or 区	Alt.# 2 PIPE RESTRAINT	TS (6")	,
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-706	2	Each	60.00	170.00
		MANAGEMENT AND	UL W	

Wording for "DESCRIPTION" is to be provided by the Owner All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

TO: Jefferson Parish	BID FOR: West Esplanade Avenue Restoration Eastbound
Purchasing Department	(Tartan Drive to Haring Road)
200 Derbigny Street, Suite 4400	Jefferson Parish Public Works No. 2017-032-RBP
Gretna, Louisiana 70053	Bid Proposal No. 50-124124
(Owner to provide name and address)	(Owner to provide name of project)

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures.

DESCRIPTION:	☐ Base Bid or 区	l Alt.# <u>2</u> PIPE RESTRAINT	'S (8'')	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-708	52	Each	106-00	3,432.00
DESCRIPTION:	☐ Base Bid or 区	l Alt.# 2 TRANSITIONAL	COUPLINGS (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-806	2	Each	120.00	240,00
DESCRIPTION:	☐ Base Bid or 区	l Alt.# 2 TRANSITIONAL	COUPLINGS (8")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-808	3	Each	200,00	600.00
DESCRIPTION:	☐ Base Bid or 区	l Alt.# <u>2</u> DUCTILE IRON F	TITTINGS	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-901	731	Pounds	2.00	1,462.00
DESCRIPTION:	☐ Base Bid or 区	l Alt.# 2 FIRE HYDRANT	ASSEMBLY	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-902-A	1	Each	4,500,00	4,500,00
DESCRIPTION:	☐ Base Bid or 区	l Alt.# 2 WATER SERVICE	E CONNECTION (<1")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-903-O	2	Each	300,00	600,00
DESCRIPTION:	☐ Base Bid or 区	l Alt.# 2 REMOVAL AND	DISPOSAL OF EXISTING	G AC WATERLINE (6")
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-907-6	43	Linear Foot	14.00	602-00
DESCRIPTION:	☐ Base Bid or 区	l Alt.# 2 REMOVAL AND	DISPOSAL OF EXISTING	G AC WATERLINE (8")
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-907-8	907	Linear Foot	12.00	10,884.00
DESCRIPTION:	☐ Base Bid or 区	] Alt.# <u>2</u> ABANDONMENT	OF EXISTING WATER	LINE
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-908	100	Linear Foot	12.00	1,200,00

Wording for "DESCRIPTION" is to be provided by the Owner All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner

### **CORPORATE RESOLUTION**

EXCERPT FROM MINUTES OF MEETING OF THE BOARD OF DIRECTORS OF The Three C's Properties, Inc.
INCORPORATED.
AT THE MEETING OF DIRECTORS OF The Three C's Properties, Inc.  INCORPORATED, DULY NOTICED AND HELD ON October 30, 2018  A QUORUM BEING THERE PRESENT, ON MOTION DULY MADE AND SECONDED. IT WAS:
RESOLVED THAT Connie Cook Boe , BE AND IS HEREBY APPOINTED, CONSTITUTED AND DESIGNATED AS AGENT AND ATTORNEY-INFACT OF THE CORPORATION WITH FULL POWER AND AUTHORITY TO ACT ON BEHALF OF THIS CORPORATION IN ALL NEGOTIATIONS, BIDDING, CONCERNS AND TRANSACTIONS WITH THE PARISH OF JEFFERSON OR ANY OF ITS AGENCIES, DEPARTMENTS, EMPLOYEES OR AGENTS, INCLUDING BUT NOT LIMITED TO, THE EXECUTION OF ALL BIDS, PAPERS, DOCUMENTS, AFFIDAVITS, BONDS, SURETIES, CONTRACTS AND ACTS AND TO RECEIVE ALL PURCHASE ORDERS AND NOTICES ISSUED PURSUANT TO THE PROVISIONS OF ANY SUCH BID OR CONTRACT, THIS CORPORATION HEREBY RATIFYING, APPROVING, CONFIRMING, AND ACCEPTING EACH AND EVERY SUCH ACT PERFORMED BY SAID AGENT AND ATTORNEY-INFACT.
I HEREBY CERTIFY THE FOREGOING TO BE A TRUE AND CORRECT COPY OF AN EXCERPT OF THE MINUTES OF THE ABOVE DATED MEETING OF THE BOARD OF DIRECTORS OF SAID CORPORATION, AND THE SAME HAS NOT BEEN REVOKED OR RESCINDED.
SECRETARY-PREASURER
10/30/18 DATE

### **Public Works Bid**

### **AFFIDAVIT**

STATE OF	
PARISH/COUNTY OF	St. Charles
BEFORE ME, the undersign	ned authority, personally came and appeared:
Connie Cook Boe	, (Affiant) who after being by me duly
sworn, deposed and said tha	t he/she is the fully authorized
Persident	of (Entity), the party who
	to Bid Number, to the Parish of Jefferson.
Affiant further said:	
Campaign Contribution Disc	closures
(Choose A or B, if option A	A is indicated please include the required attachment):
the date and amount of each of the Parish of Jefferson by including employees, ownin immediately preceding the o official, whichever is greate made any contributions to o	hereto is a list of all campaign contributions, including contribution, made to current or former elected officials. Entity, Affiant, and/or officers, directors and owners, ag 25% or more of the Entity during the two-year period late of this affidavit or the current term of the elected r. Further, Entity, Affiant, and/or Entity Owners have not r in support of current or former members of the Jeffersor son Parish President through or in the name of another r directly or indirectly.
Choice B there are I disclosure under Choice A of	NO campaign contributions made which would require

Affiant further said:

Debt Disclosures

(Choose A or B, if option A is indicated please include the required attachment):

Choice A \_\_\_\_\_ Attached hereto is a list of all debts owed by the affiant to any elected or appointed official of the Parish of Jefferson, and any and all debts owed by any elected or appointed official of the parish to the Affiant.

Choice B \_\_\_\_\_ There are NO debts which would require disclosure under Choice A of this section.

#### Affiant further said:

That Affiant has employed no person, corporation, firm, association, or other organization, either directly or indirectly, to secure the public contract under which he received payment, other than persons regularly employed by the Affiant whose services in connection with the construction, alteration or demolition of the public building or project or in securing the public contract were in the regular course of their duties for Affiant; and

That no part of the contract price received by Affiant was paid or will be paid to any person, corporation, firm, association, or other organization for soliciting the contract, other than the payment of their normal compensation to persons regularly employed by the Affiant whose services in connection with the construction, alteration or demolition of the public building or project were in the regular course of their duties for Affiant.

#### Affiant further said:

Affiant personally has not been convicted of, nor has he/she entered into a plea of guilty or nolo contendere to any of the crimes or equivalent federal crimes listed below. No individual partner, incorporator, director, manager, officer, organizer, or member, who has a minimum of a ten percent ownership in the Bidding Entity, has been convicted of, or has entered a plea of guilty or nolo contendere to any of the crimes or equivalent federal crimes listed below. A conviction of or plea of guilty or nolo contendere to the following state crimes or equivalent federal crimes shall permanently bar any person or the bidding entity from bidding on public projects:

- (a) Public bribery (R.S. 14:118)
- (b) Corrupt influencing (R.S. 14:120)
- (c) Extortion (R.S. 14:66)
- (d) Money laundering (R.S. 14:230)

A conviction of or plea of guilty or nolo contendere to the following state crimes or equivalent federal crimes shall bar any person or the bidding entity from bidding on public projects for a period of five years from the date of conviction or from the date of the entrance of the plea of guilty or nolo contendere:

- (a) Theft (R.S. 14:67)
- (b) Identity Theft (R.S. 14:67, 16)
- (c) Theft of a business record (R.S. 14:67.20)
- (d) False accounting (R.S. 14:70)
- (e) Issuing worthless checks (R.S. 14:71)
- (f) Bank fraud (R.S. 14:71.1)
- (g) Forgery (R.S. 14:72)
- (h) Contractors; misapplication of payments (R.S. 14:202)
- (i) Malfeasance in office (R.S. 14:134)

The five-year prohibition provided for in this section shall apply only if the crime was committed during the solicitation or execution of a contract or bid awarded pursuant to these provisions. If evidence is submitted substantiating that a false attestation has been made and the project must be readvertised or the contract cancelled, the awarded entity making the false attestation shall be responsible to the public entity for the costs of rebidding, additional costs due to increased costs of bids and any and all delay costs due to the rebid or cancellation of this project.

[The remainder of this page is intentionally left blank.]

### Affiant further said:

- (1) Entity is registered and participates in a status verification system to verify that all employees in the State of Louisiana are legal citizens of the United States or are legal aliens.
- (2) Entity shall continue, during the term of the contract, to utilize a status verification system to verify the legal status of all new employees in the State of Louisiana.
- (3) Entity shall require all subcontractors to submit to the Entity a sworn affidavit verifying compliance with statements (1) and (2).

Signature of Affiant

Connie Cook Boe

Printed Name of Affiant

SWORN AND SUBSCRIBED TO BEFORE ME ON THE 30 DAY OF October, 2018.

Notary Public

Printed Name of Notary

58462

Notary/Bar Roll Number

My commission expires\_ ATMY DEATH



Updated: 02.27.2014

CERTIFICATE OF LIABILITY INSURANCE  DATE (MM/DD/YY) 10/31/2018								
PRODUCER				THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS				
McGriff Insurance Services, Inc.					CERTIFICATE DOES NOT AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW.			
2600 CITIPLACE CT., SUITE 100 BATON ROUGE, LA 70808				COMPANIES AFFORDING COVERAGE COMPANY				
BATON ROUGE, LA 70808					A THE GRAY INSURANCE COMPANY			
INSURED				COMPANY				
The Three C's Properties, Inc.				COMPANY				
141 I-310 Service Road Saint Rose, LA 70087				COMPANY				
COVERAGES					D			
THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED, NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES, LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.								
CO LTR	TYPE OF INSURANCE	POLICY NUMBER	POLICY EF	FECTIVE	POLICY EXPIRATION DATE (MM/DD/YY)			
	GENERAL LIABILITY	I OFFICE MONDER	DATE (MM	# <i>DU</i> (11)	,	GENERAL AGGREGATE	Unlimited	
	X COMMERCIAL GENERAL LIABILITY				2/1/2019	PRODUCTS – COMP/OP AGG	\$3,000,000.00	
A	OWNER'S & CONTRACTOR'S PROT	XSGL-074205	1/21/2	2016		PERSONAL & ADV INJURY EACH OCCURRENCE	\$1,000,000.00 \$1,000,000.00	
						FIRE DAMAGE (Any one fire) MED EXP (Any one person)	\$50,000.00 \$5,000.00	
	AUTOMOBILE LIABILITY X ANY AUTO					COMBINED SINGLE LIMIT BODILY INJURY	\$1,000,000.00	
	X ALL OWNED AUTOS SCHEDULED AUTOS				2/1/2019	(Per person) BODILY INJURY		
A	X HIRED AUTOS X NON-OWNED AUTOS	XSAL-075200	1/21/2	2016		(Per accident) PROPERTY DAMAGE		
	GARAGE LIABILITY					AUTO ONLY SA AGGIDENT		
	ANY AUTO					AUTO ONLY - EA ACCIDENT OTHER THAN AUTO ONLY		
						EACH ACCIDENT		
						AGGREGATE		
	EXCESS LIABILTY  UMBRELLA FORM		0.00.040000			EACH OCCURRENCE AGGREGATE	\$4,000,000.00 \$4,000,000.00	
A	X OTHER THAN UMBRELLA FORM	OTHER THAN UMBRELLA GXS-043333 2.		018	2/1/2019	710011101712	<b>**</b> 1,000,000,00	
	WORKER'S COMPENSATION AND					X WC STATU- OTH TORY LIMITS ER		
A	EMPLOYERS' LIABILITY THE PROPREITOR/	XSWC-070920	1/21/2	2016	2/1/2019	EL EACH ACCIDENT EL DISEASE – POLICY LIMIT	\$1,000,000.00 \$1,000,000.00	
	PARTNERS/EXECUTIVE X INCL OFFICERS ARE: EXCL					EL DISEASE – EA EMPLOYEE	\$1,000,000.00	
OTHER								
DESCRIPTION OF OPERATIONS/LOCATIONS/VEHICLES/SPECIAL ITEMS The certificate holder is an additional insured on all policies except Workers' Compensation and is provided a Waiver of Subrogation, all if required by written contract. The above insurance policies shall be								
primary and noncontributory to any other insurance policies maintained by the certificate holder, if required by written contract.								
Proposal 5000124124, West Esplanade Resortation Eastbound Tartan Drive to Haring Road. Roadway paving, sidewalks and driveways with complete drainage and waterline replacements.								
CERTIFICATE HOLDER  CANCELLATION  In the event of cancellation by The Gray Insurance Company and if required by written							and have smiller	
					contract, 30 days written notice will be given to the Certificate Holder.  AUTHORIZED REPRESENTATIVE			
200 Derbigny Street								
Gretna, LA 70053								
GCF 00 50 01 01 12  THE GRAY INSURANCE COMPANY								

### THE GRAY INSURANCE COMPANY

The below coverages apply if the corresponding policy number is indicated on the previous page.

#### A. Commercial General Liability

General Liability Policy Includes:

Blanket Waiver of Subrogation when required by written contract.

Blanket Additional Insured (CGL Form# CG 20 10 11 85) when required by written contract.

Primary Insurance Wording Included when required by written contract.

Broad Form Property Damage Liability including Explosion, Collapse and Underground (XCU).

Premises/Operations

Products/Completed Operations

Contractual Liability

Sudden and Accidental Pollution Liability

Occurrence Form

Personal Injury

"In Rem" Endorsement

Cross Liability

Severability of Interests Provision

"Action Over" Claims

Independent Contractors coverage for work sublet

Vessel Liability - Watercraft exclusion has been modified by the vessels endorsement on scheduled equipment.

General Aggregate applies per project or equivalent.

### B. Automobile Liability Policy Includes:

Blanket Waiver of Subrogation when required by written contract.

Blanket Additional Insured when required by written contract.

#### C. Workers Compensation Policy Includes:

Blanket Waiver of Subrogation when required by written contract.

U.S. Longshoremen's and Harbor Workers Compensation Act Coverage

Outer Continental Shelf Land Act

Jones Act (including Transportation, Wages, Maintenance, and Cure),

Death on the High Seas Act & General Maritime Law.

Maritime Employers Liability Limit: \$1,000,000

Voluntary Compensation Endorsement

Other States Insurance

Alternate Employer/Borrowed Servant Endorsement

"In Rem" Endorsement

Gulf of Mexico Territorial Extension

### D. Excess Liability Policy Includes:

Coverage is excess of the Auto Liability, General Liability, Employers Liability, & Maritime Employers Liability policies

Blanket Waiver of Subrogation when required by written contract.

Blanket Additional Insured when required by written contract.